DENEME 5.


1-22. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1-
When travelling away from home, always take   …………  to ensure the security of your house during your absence.

A) trips 
B) warnings

C) instructions 
D) investigations

E) measures 

2- 
She had to write the letter in a hurry; as a result, her writing was hardly ………… 

A) precise 
B) careful

C) legible 
D) curious

E) intensive

3-
I don't want to leave this city, but I'd prefer to live in a different    ………. 

A) 
region        
B) 
county       



C) 
district         
D) 
state


E)
outskirt
4-
These days people who can speak several languages are very much in ……….


A) 
need          
B) 
request      


C) 
demand      
D) 
requirement


E)
wish

5-
Stop asking all these personal questions! It is bad manners to be   ----.


A) inquisitive  
B) impatient  


C) acquisitive
D) informative  


E) searching 

6- 
Despite advice to the contrary, the chairman has decided that the best way to …………      finance is by selling shares to the public.

A) rise 
B) raise 

C) arise 
D) arouse

E) rinse

7- 
She moved her cup …………      as she spoke and some of the coffee still remaining in it spilt on to the floor.

A) 
violently
B) confidently
C) 
worthlessly
D) sincerely

E)
courteously

8-
The old professor ______ last night because of a heart attack.
A)
came up
B)
ran across

C)
put through
D)
passed away

E)
turned out

9-
We started off sailing…………      the lighthouse but, because of the unfavourable wind, we ended up going   ………… a different direction.


A) away/on 
B) above/to 

C) towards/in 
D) around/across

E) inside/at

10-
Tony left the party several minutes …………  his friends as he had to catch the last train home.


A) than 
B) already


C) while 
D) before

E) ago

11- 
Mark and Helen share very similar tastes, ………
she likes coffee and he prefers tea.


A) the same as
B) different from


C) rather than
D) except that


E) in addition

12-
The doctor says that if the patient’s condition gets any …………    , he’ll have no choice but to operate.

A) bad 
B) so badly

C) the worst 
D) badly

E) worse

13- 
He was qualified for business administration, but the company employed him ………… a marketing representative.

A) 
like 
B) as 

C)
such as 
D) just

E) 
for

14- 
The sun is the centre around …………  the earth and the eight other planets of our solar system revolve.

A) that 
B) where

C) whose 
D) which

E) what

15- 
Give me a call as soon as you arrive …………     late it is.

A) 
whenever 

B) even though

C) however 

D) even if

E) no matter

16-  
…………  I was bending down to do up my shoelaces, I noticed that the leg of that chair is damaged.


A) While

B) By the time


C) Until

D) As though


E) The sooner

17- 
Our chance of success is very small indeed;
…………  , I suggest that we shouldn’t even try.

A) on account 
B) even then

C) nevertheless 
D) therefore

E) in contrast

18- 
I wonder how she always manages…………  her furniture so thoroughly ………… 


A) keeping/dusting

B) to be kept/dust

C) keep/having dusted

D) to be keeping/to dust

E) to keep/dusted

19-
Although everyone…………  by the proceedings last week, no attempts …………  yet to put matters right.

A) has angered/are made

B) is angered/have made

C) had angered/were made

D) was angered/have been made

E) will be angered/are being made

20-
I think you…………      in the sun for far too long. Your face is bright red.

A) had lain 
B) have been lying

C) would be lying 

D) will lie

E) were lying

21- 
Despite being fifty-five on her next birthday, my mother …………  to work every day even when it  …………    

A) was jogging/has been raining

B) is jogging/will be raining

C) jogs/is raining

D) has jogged/will have rained

E) jogged/rains 

22-
If only he…………     to my advice, he…………   in such a mess now.

A) 
had listened/wouldn’t be

B)
might listen/weren’t

C) 
would listen/won’t be

D) 
listened/hadn’t been

E) 
listens/isn’t

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
In some poorer countries, over twenty percent of the children die in their first year of life. One reason for this is the lack of medical care and medicines. Many children die from diseases that could easily (23) ………. with the right medicines or the right care. (24) ………. cause of death among children is the food, it often is not clean or fresh and can (25) ………. children very sick. Milk is a very important source of minerals. Getting enough food is another problem. When children are weak from lack of food, they die more easily from diseases. And (26) ………., dirty water also kills many children every year. Because of water shortages, people often are forced to drink water from dirty rivers or lakes. This water may carry serious diseases, or it may (27) ………. harmful chemicals from pollution.
23-


A)
be prevented
B)
prevent


C)
prevented
D)
have prevented


E)
be preventing

24-


A)
Other
B)
Another


C)
Others
D)
The others


E)
Each other

25-


A)
do 
B)
cause



C)
have
D)
get


E)
make

26-


A)
finally
B)
formerly


C)
lately
D)
initially


E)
the end

27-



A)
obtain
B)
regain



C)
contain
D)
entertain


E)
retain

28. -31. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Most homes are full of dangers for small children. Many of these dangers are obvious. Stairs, for example, can be dangerous, and so can the sharp corners of a table. (28) ………. well-known danger is fire and parents usually are careful about matches and candles. But other dangers may be less obvious to a parent. Many children die (29) ………. poisoning in their homes. In fact, all kinds of things in the house could be poison to a child. Medicine, for example, may not be harmful for an adult, but may make a child seriously ill. The same is true of alcohol and cigarettes. (30) ………., soaps and chemicals used for cleaning are often extremely poisonous. Before the days of detergents, people (31) ………. make soap from animal fat. All these things (32) ………. far out of the reach of young children.     

28-


A)
Another
B)
other


C)
Others
D)
Each other


E)
The others

29-


A)
of
B)
from


C)
out
D)
into


E)
out of

30-


A)
Initially 
A)
At the end of


C)
At the beginning
D)
To start with


E)
Finally

31-


A)
used to make
B)
were used to make


C)
used to making
D)
are used to making


E)
using to make

32-


A)
must have been kept 

 
B)
must be keeping

C)
had better kept


D)
should have been kept


E)
should be kept

33 – 42. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33- 
Even though many people before him had tried to climb Mount Everest, ………… 

A)
Hillary and Tensing used the most suitable equipment

B)
because the mountain had always fascinated mountaineers

C)
and, it has since been climbed several times

D)
Edmund Hillary was the first to succeed

E)
the highest point on Earth still attracts many others

34- 
He knew he would have to spend many years training    ………… 
A)
so that he’s selected for the school team

B)
after he’s decided to participate in the competition

C)
if he was aiming to be successful in the Olympics

D)
but he could still secure his place in the team

E)
because he was not really fond of competing with his classmates

35- 
I’m afraid it will be too late …………      

A)
when everybody realised the extent of the disaster and decided to take action

B)
by the time humans become aware of the impact of their mishandling of the environment

C)
because being punctual has been a


principle of mine all my life

D)
so that the developing countries act together to stop the war between the two countries

E)
considering so many people have perished from famine and drought in the region
36- 
As the flavour of coffee deteriorates


rapidly after it is ground,    ………… 

A)
the farmers should have consulted the authorities about how to cultivate the plant

B)
I found the taste of the coffee rather strange without any milk in it

C)
the grinding machine has seen significant changes since its invention

D)
it now takes just a few minutes to have a large amount of coffee beans ground

E)
many drinkers buy whole roasted beans and grind them at home

37-
…………  , it usually takes much longer to become fluent in it.

A)
Since most languages have evolved through a series of changes

B)
Due to the simplicity of Esperanto, an artificial language created by Ludwig Zamenhof

C)
Whereas the grammar of a second language can be learnt in quite a short time

D)
Because the origins of the English language go back to another language, Indo-European

E)
Although Esperanto has never been accepted as an official world language

38-
…………  , causing it to continue into the busy summer season.

A)
Holiday-makers usually waste a lot of time going to and from their destinations

B)
Heavy rain hampered the work on the motorway

C)
The teacher had given too many assignments for the students to do

D)
The labourers are working on a huge construction

E)
The restoration of the hotel is planned to be completed in spring

39-     Janice has been a disappointment to her family 

.......

A) 
while she was living at home without looking for a job

B) 
since she quitted university and joined an extremist cult

C) 
just after she got divorced and left her children with her mother 

D) 
before she straightened herself out

E) 
when she decided to get married to a rather strange man 

40-    Though government figures show a gradual decrease in the rate of inflation, ………. 

A) 
the fall was particularly apparent in food prices

B) 
this is, of course, what everyone wants

C) 
few people think the targets will ever be met                                        

D) 
this is a problem for many of the developing countries

E) 
it's just the target determined by the government

41-   
……….  while her sister was content in a small town.

A) 
Jane always wanted to live in a big city

B) 
Martha is getting married to her high school sweetheart

C) 
Sandra never worries much about her career as midwife

D) 
The farm life was never easy for the children

E) 
Maggie has always wished she had a brother

42-   
........ but it's quite obvious that it will cost billions of pounds to rebuild the country,                                                  

A) 
On January 24, 1556, an earthquake caused an estimated 830,000 deaths in  China   

B) 
Every year, an average of 800 tornadoes destroy homes and lives throughout America

C) 
Since the early part of this century, people have been leaving rural areas for the dry

D) 
Until the war is over, it's impossible to know the extent of the damage precisely

E) 
Hurricane Agnes ravaged the east coast of the US and caused $10 billion in damage

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43- 
She’s waiting until she can afford it.

A) Is Peggy still waiting for holiday?

B) Why is Peggy waiting?

C) Could Peggy afford the money?

D) Why isn’t Peggy going on holiday?

E) When will Peggy afford the money?

44- 
He won’t buy it until he gets a rise in wages.

A) When is Tom going to buy a scooter?

B) Will Tom buy a camera?

C) When will Tom get a rise in his wages?

D) Did Tom buy a scooter?

E) Until when will he buy a scooter?

45- 
For about two years.

A) When did Tim go to Australia?

B) Have you waited for him for a long time?

C) How about waiting for him a few minutes?

D) When will Tim come back home?

E) How long had Tim been a teacher at that time?

46- 
I’ve just fallen off my bicycle.

A) What’s the matter?

B) When did you fall?

C) Have you broken your leg?

D) Does it hurt too much?

E) Should we go to a doctor?

47-50. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

47-
Though they show great variety in appearance, all cars basically have the same technical features.

A)
İlk bakışta arabalar birbirlerinden çok farklıymış gibi görünse de aslında teknik açıdan hepsi aynıdır.

D)
Arabaların hacmi büyüdükçe görünüşlerinin yanı sıra sahip oldukları teknik özellikler de önemli ölçüde değişmektedir.

C)
Görünüş olarak büyük çeşitlilik göstermelerine karşın bütün arabalar temelde aynı teknik özelliklere sahiptir.

D)
önemli olan arabaların büyüklüğü ya da görünüşü değil, teknik bakımdan taşıdıkları özelliklerdir.

E)
Teknik açıdan temelde aynı özellikleri taşıdıkları halde arabalar büyüklük ve görünüş bakımından büyük çeşitlilik gösterir.

48-
Helping others often makes it easy for one to forget about one’s own problems.

A)
Başkalarının sorunları insana hep kendi sorunlarından daha basitmiş gibi gelir.

B)
Kendi sorunları olsa bile kişi başkalarına yardım etmeyi asla unutmamalıdır.

C)
İnsanın kendi sorunlarını unutmasının en kolay yolu başkalarına yardım etmektir.

D)
İnsan başkalarının sorunlarıyla ilgilenirken kendi sorunlarını kolayca unutabiliyor.

E)
Başkalarına yardım etmek çoğu zaman insanın kendi sorunlarını unutmasını kolaylaştırır.

49-
He was devastated to learn that the painting he bought from an unknown antique-dealer was a fake.

A)
Antikacıdan aldığı tablonun sahte olduğunu bilmiyor olmalı ki öğrendiği zaman perişan oldu.

B)
Az tanınmış antikacılardan tablo almanın riskli olduğunu, kötü bir şekilde de olsa, nihayet öğrendi.

C)
Hiç tanınmamış bir antikacıda gördüğü tablonun gerçek olduğunu öğrendiği zaman şaşkına döndü.

D)
Tanınmamış bir antikacıdan aldığı tablonun sahte olduğunu öğrenince yıkıldı.

E)
Antikacıyı hiç tanımadığı için almayı düşündüğü tablonun sahte olabileceği kuşkusuna kapıldı.

50-
The earth would be like heaven if the scientific and technological developments were only used for the benefit of human beings.

A) 
Bilimsel ve teknolojik gelişmeler sadece insanların iyiliği için kullanılsa, dünya cennet gibi olurdu.

D) 
Bilim ve teknoloji alanındaki gelişmeler insanlık yararına kullanılmadıkça dünya düzelmez.

C)
Sadece bilim ve teknoloji alanındaki gelişmeler değil, insan ilişkileri de dünyanın geleceği açısından kaygı vericidir.

D)
İnsanoğlu bilimsel ve teknolojik gelişmeleri yararlı bir şekilde kullansa, dünyayı cennete çevirir.

E)
Eğer dünyanın yaşanabilir bir yer olmasını istiyorsa, insanoğlu bilimsel ve teknolojik gelişmeleri çok akıllıca kullanmalıdır.

51-54. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

51-
Asıl tercihi o olmadığı halde babasının ölümü üzerine aile şirketinin başına geçmek zorunda kaldı.

A)
He didn’t actually want it, but he felt obliged to take charge of the family company when his father died.

B)
He was left with no other choice but to take charge of the family company after his father’s death.

C)
Although it was not his actual choice, he had to take charge of the family company upon his father’s death.

D)
He was to take charge of the family company after his father’s death even if he didn’t want to.

E)
He was the only person available to take charge of the family company after his father died.

52-
Bu kadar gayretli bir çalışmadan sonra başarılı olmaman için hiçbir neden göremiyorum.

A)
I can’t understand why, despite, the hard work you did, you didn’t succeed.

B)
As far as I can see, you should work more diligently in order to succeed.

C)
I can see no reason why you shouldn’t succeed after such diligent work.

D)
I can’t say that you didn’t succeed just because you didn’t work hard.

E)
Seeing as you’re working so hard, I can better understand the reason for your success.

53-
Toplumun koyduğu kurallara uymak zorunda olmak bazen sıkıcı olabiliyor ama başka türlü de yaşayamayız.

A)
We have to obey the rules in society, or we may get into conflict with others.

B)
Even if we do find social rules boring occasionally, we couldn’t imagine life without them.

C)
It’s extremely boring to observe the rules in society, yet life without them wouldn’t be possible.

D)
Having to observe the rules in society can sometimes be boring, but we couldn’t live otherwise.

E)
Even though we may sometimes be bored with the compulsion to obey the social rules, they are necessary for our lives.

54-
Yüzündeki ifadeye bakılırsa, toplantı pek iyi gitmemiş gibi görünüyor.

A)
Judging by the expression on her face, the meeting seems not to have gone well.

B)
The expression on her face shows that the meeting didn’t go well.

C)
From the expression on her face, it doesn’t appear that the meeting went as well as she expected.

D)
It’s obvious by the expression on her face that she isn’t pleased with the outcome of the meeting.

E)
The expression on her face doesn’t show any good indications as to the outcome of the meeting.

55-57.  soruları verilen parçaya göre cevaplayınız.

Abbreviations are shortened forms of words or phrases. In the past, when all writing was done by hand, abbreviations saved time and space. Today, when so much is printed about so many subjects, they serve the same purpose. Certain types of abbreviations, e.g. UNESCO, which stands for United Nations Educational, Scientific, and Cultural Organization, are also spoken, if easily pronounced. The use of abbreviations dates back to ancient times, but widespread use of them has been most acute in the 20th  century, which is directly related to the vast increase in information.

55-
According to the passage, the function of abbreviations    ………… 

A)
was quite different in the past

B)
concerned writing in the past but now it concerns speaking

C)
has remained the same since ancient times

D)
used to depend on the purpose of the user

E)
has varied over the years alongside the increase in information

56-
It’s clear from the passage that the abbreviation UNESCO   ………… 

A)
is formed by using the initial letters of the words in its name

B)
started the tradition of shortening words or phrases

C)
is used in writing more often than in speaking

D)
was devised to make the pronunciation of its full form easier

E)
has been used since the organization was founded

57-
The passage states that using the abbreviated form of a word or phrase ………… 

A)
helps us to make ourselves better understood

B)
makes pronunciation much easier for us

C)
used to be more common in the past

D)
enables us to use less time and space

E)
has made organizations like UNESCO easily-remembered

58-60.  soruları verilen parçaya göre cevaplayınız.

The term caste refers to an extreme form of social differentiation in which the groups that constitute society are ranked in a rigid hierarchical scale. In all true caste systems, society as a whole is divided into a series of groups recruited by birth: marriage is generally restricted to members of the same caste, castes are in some way associated with occupational specializations, and the order of castes is linked to a moral order that dictates codes of appropriate behaviour for each caste. The most elaborate form of caste is found in Hindu India. Others with less elaborate systems include Sri Lanka, Pakistan, Bangladesh and Nepal.

58-
We can conclude from the passage that in true caste Systems,    ………… 

A)
members of each caste perform different tasks

B)
each member of a caste specializes in a 


different occupation

C)
certain castes determine the moral codes followed by the whole Society

D)
the members of certain castes try not to contact each other in any way

E)
marriages between members of different castes are not common

59-
The author states that, of the countries mentioned in the passage    ………… 

A)
none follows a true caste system

B)
all forbid inter-caste marriages

C)
India has the most complicated caste system

D)
Sri Lanka, Pakistan, Bangladesh and Nepal have the least tolerant caste systems

E)
all but India allow commercial relationships between the castes

60- 
The passage points out that  …………   

A)
the birth rate is usually very high in countries with a caste system

B)
the caste which a person belongs to is determined by birth

C)
each caste encourages birth in order to maintain its population

D)
the population of a caste is affected by inter-caste marriages

E)
trade between different castes is usually


restricted to certain items

61-63.  soruları verilen parçaya göre cevaplayınız.

One of the classics of 19th  century English literature, Jane Eyre, by Charlotte Bronte, introduced a new kind of heroine in the plain but passionate governess for whom the novel is named. Forced to earn a living in the only way open to respectable middle-class women in Victorian England, Jane struggles for love and independence in seemingly hopeless surroundings. Reflecting something of Bronte’s own unhappy youth, the novel recounts Jane Eyre’s love for her employer, Edward Rochester. The realism with which Jane’s position is portrayed is combined with both melodrama and romance to permit a satisfactory resolution: the marriage of Jane and Mr Rochester.

61- 
Jane Eyre     ………… 

A)
is an important novelist of 19th century England

B)
is the leading female character in the book

C)
was the governess who taught the author as a 
child

D)
forced the author to earn her own living 

E) gave the author the idea for her book

62- 
The passage tells us that …………    

A)
the book was in fact the author’s autobiography

B)
working as a governess wasn’t considered suitable for a woman in Victorian England

C)
the author defied social rule by marrying her boss

D)
there is a similarity between the lives of the author and the heroine of the book

E)
the author didn’t reflect realities in her book

63- 
We understand from the passage that a respectable middle-class woman in Victorian England     ………… 

A)
couldn’t do any other work than be a governess

B)
wasn’t allowed to marry her employer

C)
was usually unhappy because of the social restrictions

D)
had to work hard to earn a living

E)
used to fall into conflict with society if she wanted to work

64-66.  soruları verilen parçaya göre cevaplayınız.

James Dean, who was born on February 8, 1931, and died on September 30, 1955, was an American actor whose film career had hardly begun when he was killed in a car crash. A cult figure even today, Dean triggered an outburst of teenage fan mania based on his second film, Rebel Without a Cause (1955), in which he played the moody, troubled son of a middle-class family. His first starring role, East of Eden (1955), and his third, Giant, which was completed in 1956, added to the legend.

64-
According to the passage, James Dean………… 

A)
had to face very hard conditions during his film career

B)
lost his mental health after his second film

C)
was killed while a scene of his third film was being shot

D)
was a rebellious person by nature

E)
had a very short acting life

65-
We can conclude from the passage that Dean …………   

A)
came from a middle-class family

B)
used to get moody while acting

C)
first appeared in the film East of Eden 

D) died before his third film was finished 

E) played a racing driver in his last film

66-
From the writer’s statement, we understand that   


………… 
A)
Dean’s last two films were based on legends

B)
Dean’s films caused the youths of the time to rebel

C)
Dean is regarded as a legend in the history of cinema 

D)
Dean’s troubles destroyed his acting career

E)
Dean played his own life in his second film

67-69.  soruları verilen parçaya göre cevaplayınız.

The long reign of Queen Victoria was a time of almost uninterrupted peace and great progress. The rapid growth of industry made Britain the world's leading industrial nation - "the workshop of the world", as she was called - and the British Empire reached the height of its power when Queen Victoria was proclaimed Empress of India in 1876. During her long life, which lasted 82 years, the Queen herself became a symbol of Britain's greatness. In 1840 Victoria married Prince Albert and lived happily with him until he died in 1861. After his death she led a lonely life, withdrew from public affairs, and could only rarely be persuaded to visit London. When she died in 1901 after a reign of 63 years, the world stood on the threshold of the 20th century, and many English people felt that a great age had gone for ever.

67-
Queen Victoria came to the throne in …………

A) 1876

B) 1819


C) 1840

D) 1901


E) 1838

68-
During the reign of Queen Victoria  …………            


A) 
the British Empire was formed 

B)
other countries lived in fear of Britain's power 

C) 
Britain was involved in hardly any wars 

D) 
public affairs were the sole responsibility of the 


monarch 

E) 
the only country to have industrialised was 


Britain

69-   Queen Victoria's death     ………… 


A) came about because she was so lonely without 



her husband


B) brought about the collapse of the British Empire 


C) left Britain ill-equipped to enter the 20th century 


D) was considered, by many, the end of an era 


E) caused the era of peace to come to an end

70-72.  soruları verilen parçaya göre cevaplayınız.

In a recent survey, it was found that 25 per cent of the women interviewed reported drying and burning of the skin after using certain soaps, 10 per cent had eye and nasal irritations after using certain perfumes, and 8 per cent had cracked lips after using certain lipsticks. The most common symptoms of allergic dermatitis are extremely dry skin, scaling, and redness with swelling and itching. The products most likely to cause this condition are lipstick, nail polish, soap, hair preparations, deodorants, and perfumes. Various drugs are being developed for the relief of allergy sufferers. However, your best help is to convert to a cosmetic product to which you have no harmful reaction. Remember that the product is not at fault or in any way injurious; it is your particular sensitivity to it that creates the problem. A line of hypo-allergenic cosmetics that are relatively free from substances that have been found to create allergic reactions is on the market.

70-
The writer advises those with allergic reactions 


to  ………… 

A)
stop using soap

B)
take anti-allergenic drugs

C)
change their brand of cosmetics

D)
avoid all cosmetics

E) complain to the manufacturer

71-
It's likely that the aim of the survey was …………             

A)
to test how well a particular brand of soap was selling

B)
to aid the drug manufacturers in their development of remedies

C)
to get evidence to support a legal claim for damages against a cosmetics company

D)
to collect the information needed to force cosmetics companies to withdraw certain products

E)
to get an idea of how women react physically to cosmetics

72-
Certain products cause allergies because ………                 


A) they are very low quality


B) the women are talking drugs which react 



adversely to the cosmetics


C) the women overuse them by as much as 25 per 



cent


D) certain people are sensitive to their ingredients


E) the manufacturers use harmful ingredients 



because they are cheaper

73-75.  soruları verilen parçaya göre cevaplayınız.

During the First World War, India sent 985,000 men to the battlefields, at Britain's pleading, to assist her. In return, Britain promised that she would give India self-government. When the war was over, India demanded that Britain should fulfil her promise, but the British thought that the time for Indian independence hadn't yet come. Gandhi, the leader of the independence movement, was deeply disappointed. If Britain was not prepared to keep her word, he saw no reason why he should stay loyal to her. He began his campaign, in which all classes of the population took part, with a day of fasting. That had never happened before, for the Indians were divided strictly into castes. This small, weak man with a thin face and dark eyes, wrapped in white home-spun cloth, barefoot, sleeping on the floor, always speaking in simple language that everybody could understand, became the leader of 300 million Indians in their fight against British rule. He became the symbol of the idea of non-violence and urged his people to fight for freedom by peaceful means - by refusing to pay taxes and by strikes.

73-
Gandhi decided to start his campaign …………                  

A) because the First World war had weakened 


Britain's position

B) in an effort to unite the different castes in the 


country

C) when Britain refused to give India independence

D) when 300 million Indians chose him as their 


leader

E) in order to stop Indian troops being sent to the 


battlefields of World War

74-
During the First World War, Britain …………         

A)
asked for troops from India

B)
lost nearly a million men on the battlefields

C)
gave India self-government

D)
faced a rebellion led by Gandhi

E)
assisted India on the battlefields

75-
Gandhi’s campaign  …………                   

A)
took place during India's fasting period

B)
kept the castes strictly divided

C)
caused him to become small and weak

D)
was supported by all castes in India

E)
helped to bring down taxes and improve 


working conditions

76-80. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

76-
Apart from being conveniently located near the beach, that hotel has nothing about it to make me recommend it to you.


A) 
The hotel I’ve recommended to you is very



comfortable as it is near the  beach.

B)
As regards a hotel, nothing is more important for me than its being close to the beach.

C)
The only feature of that hotel that I can recommend to you is that it’s close to the beach. 

D)
The beach near that hotel doesn’t have anything’ special that I can recommend to you.

E)
The hotel is in a convenient location, with a beach very close to it.

77-
The sound of our voices was completely drowned by the oar of the machinery.

A)
We could only just hear each other above the loud noise of the machinery.

B)
We knew that the machines would drown out our conversation, so we didn’t try to speak.

C)
Because the machines were so deafening, our voices seemed rather faint 

D)
We tried hard to hear each other above the deafening machines.


E)
The machines were making such a loud noise that we couldn’t hear each other.

78-
He hasn’t had much luck recently, yet he remains cheerful.

A)
He is still bright and happy regardless of the misfortunes he’s suffered of late.

B) 
He hasn’t experienced enough bad fortune to make him lose his optimism yet.

C)
In recent times, his luck has changed, so he is now much more cheerful.

D)
He is lucky to be able to stay so cheerful after everything he’s been through recently.

E)
He’s had too much bad luck lately to sustain his cheerfulness.

79-
Salt-water fish appeal more to my appetite than freshwater ones.

A)
I sprinkle some salt on the fish to keep them fresh.

B)
I don’t like freshwater fish as much as I do salt-water fish.

C)
As far as I know, fish remain fresher when kept in salty water.

D)
I find freshwater fish much tastier than salt-water ones.

E)
Fish caught in freshwater are not as delicious as those caught in salt-water.

80-
He became unreasonably-upset when his team lost the match.

A)
He always cried far too much whenever his team didn’t win a match.

B)
It’s upsetting when his team loses because he becomes over-emotional.


C) 
His reaction to his team’s defeat is always out of proportion.

D)
His distress at his team’s defeat in  that match was excessive.

E)
The defeat of his team in a match may cause him to become overly upset.

81 -85. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

81-
Man is a land creature, …………  Throughout history the sea has served the needs of man. The sea has provided man with food and a convenient way to travel to many parts of the world

A)
however, the sea still offers hope, to supply many of man's needs

B)
and technology is enabling man to explore even deeper under the sea

C)
and oil and gas explorations have existed for nearly 30 years


D)
but he is also closely tied to the sea


E)  the sea may offer new sources of energy


82-
…………, but the third was thoroughly incompetent, and could not even do the simplest things. He had reluctantly concluded that he should be fired, but he was not sure how to bring up the issue.

A)
He was running a very complicated business and had to make many decisions

B)
Two of his assistants were extremely good, and could perform complex tasks easily

C)
He felt he needed a few more assistants to share his heavy work load

D)
He was in a bad situation financially, and was having difficulty paying the salaries

E)
He had too many assistants, and had to get rid of at least one

83-
Although it is very important to know what to do in case of fire, very few people actually do.       …………  With a very small amount of effort indeed, everyone can dramatically decrease his or her chance of being harmed in a fire.

A)
Unfortunately, the proper procedures are not easy to follow in an emergency

B)
It is easy to learn what to do, but to put it into practice requires far more strength than most people have

C)
If the fire engines get stuck in traffic, the problem often turns into a disaster

D)
This is rather odd, since it is really extremely simple to learn

E)
So write down the phone number of the fire brigade on a piece of paper and keep it close at hand

84-
As man’s knowledge of the earth has changed, so has cartography — the making of maps.
…………  But what of the early mapmaker? With no airplane, no exact scientific instruments, nothing but his own curiosity and skill, he used to spend months to plot and to chart regions, and his work had to be done by the trial and error method.

A]
Today, regions are mapped quickly and accurately with the aid of aerial photography

B)
Not only have all the techniques changed, but also new areas have been discovered

C)
Indeed many old maps bear no resemblance to their modern versions

D)
Most of us take maps for granted without giving a thought as to how they are made

E)
Though it is the old, beautifully-lettered maps that catch the collectors eye

85-
When we classify, we divide the members of a group into categories whose members share similar characteristics. …………  — a guideline


for our classifying procedure. For example, the students in a multi-lingual English class might be classified according to the languages they speak natively, or according to their careers, etc.

A)
For instance, with animals we divide the main species into smaller, sub-species

B)
But this classification should be based on a principle

C)
This makes it easier for us to handle large numbers of something, such as books in a library

D)
Obviously this means that some items cannot be categorized at all

E)
Thus, when we find a new example, we can immediately give it a title, or classification

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
Your sister has seen a newspaper advertisement for a holiday, which seems like a real bargain. She is just about to sign the application form that was with the advert and send off a cheque. Suspicious of the type of advertising, you say:

A)
You’re not booking a holiday without inviting me to go, are you?

B)
That holiday is remarkably cheap. Do they have similar offers to other destinations?

C)
The advertisement would be far more eye-catching if it were in colour.

D)
They must attract an awful lot of customers by advertising like this.

E)
Wouldn’t it be wise to get a little more information before you part with your money?

87-
Your friend sends you an invitation to her birthday party. However, on that evening your parents are having a family meal which you can’t miss, so you send your friend a note saying:

A)
Thanks for the invitation. I hope it’s alright for me to bring along a few of my family as well.

B)
It was lovely to hear from you. I do hope that you enjoy every minute of your birthday.

C)
My family are really sorry that they won’t be able to make it to your party that night.

D)
Sorry! I can’t make it that night due to family commitments, but I hope you have a wonderful birthday.

E)
I’m sorry that you can’t come for the meal, but it is just for family members.

88-
Your friend and you have been having a light-hearted discussion about something on which you cannot agree. Neither of you are quite certain of the facts, so when another person


comes in, you say:

A)
Please tell my friend that he is completely wrong.

B)
Can you help us settle this argument please?

C)
Well, I suppose you may be right on a few points.

D)
I’m glad you’ve come in because she’s driving me mad with her ridiculous ideas.


E)
Thank you for clarifying that. I knew I was right.

89-
It is Friday afternoon and your teacher has just set an assignment to be handed in on Wednesday. You know that your parents have invited your relatives for the weekend and that they won’t give you a moment’s peace, so, hoping for an extension, you say:

A)
I’m sorry but I simply won’t have any time whatsoever to do this homework.

B)
Would you mind if I got same help from my cousins with this?

C)
Would it be possible for me to give it in on Thursday as we’re having guests?

D)
Why do you always give so much homework at weekends ?

E)
I’m afraid I won’t be able to make a very good job of this because of the interruptions.

90-
The telephone rings and your nosy little sister, Emma, answers it on the extension in the kitchen. It is your friend for you. You take the call on the other phone in your living room, but just as your friend starts talking, you hear some breathing, so you say:

A)
Put that receiver down immediately, Emma. This is private.

B)
Have you got a cold? Your voice sounds rather strange.

C)
I hope Emma wasn’t rude to you. She’s not always very polite on the phone.

D)
Do you want to come round as I’m at home alone with Emma and she’s driving me crazy?

E)
Let me tell you all my gossip first while Emma is in a different room from me.

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91- 
Tourist
: Excuse me. How far is it to the nearest 





exchange office?

Passer-by:  …………         

Tourist
: I’d be better to take a taxi then, 




wouldn’t I?

A)
Oh, it’s just round the corner, opposite the department store.

B)
I’m sorry, but I really have no idea. Why not ask that cab-driver?

C)
I’m afraid it’s right on the other side of town.

D)
It’s miles away. If I were you, I’d jump in a taxi.

E)
Well, there’s one five minutes’ walk away, but it’s closed for lunch.

92- 
Josie
: Sheila’s coming round to my house 




tonight. Do you want to come and  see 




her?


Dawn
: ………… 

Josie
: She arrived last night and is here for 




the weekend.

A)
Yes, I’d love to. What time?

B)
I didn’t know she was in town.

C)
I know. She’s already Invited met

D)
Well, OK, but I won’t be there till late.

E)
No, I saw her when she got here yesterday.

93- 
Pete
: My parents are planning to buy a new 




house.


Dick
: ………… 

Pete
: They haven’t decided yet; my father 

and mother work at places that are very far apart, so they’re trying to settle somewhere in the middle.

A)
Have they decided how much money they wish to spend?

B)
Really’? But they have such a nice house.
C)
What will they do with their old one?

D)
Oh? In what area are they looking?

E)
Why don’t you ask them if you can live in the old 


one?

94- 
Luigi
: Would you like some chocolate




mousse for dessert?


Jane
: No thanks. I never eat dessert.


Luigi
: …………     


Jane
: No, I’m not worried about that — it’s just that I don’t like sweet things.

A)
Is it because you’re trying to watch your weight?

B)
I don’t really eat dessert either, but I’ll try this 


one.

C)
Try some. This mousse is very good.

D)
Why not? It’d give you plenty of energy for the 
hike.

E)
Couldn’t you make an exception just for once?

95-
Mary
: Where’s Simon? Is he late or is he just 




not coming?


Sue
: ………….......   


Mary
: Oh, I’d hate to have a manager like his.

A)
Oh, you know Simon! He’s never been punctual in his life.

B)
Probably the former. He’s always being asked to do overtime.

C)
When I left him at work, he didn’t mention that he wouldn’t turn up.

D)
Who can tell? Simon is incredibly unpredictable.

E)
Well, as the manager of the branch, he sometimes likes to stay late.

96-100. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

96-
I) The decathlon is a standard contest at many 


major track-and-field championships. II) It was introduced in 1912 as an official Olympic event at the Olympic Games in Stockholm. III) Bruce Jenner won the decathlon at the Olympic Games in Montreal in 1976. IV) Consisting of ten events, the decathlon is a test of an athlete’s speed, agility, endurance and strength. V) The decathlon program — divided into two days of competition since 1936 —consists of events held in a particular order.

A)   I         B) II         C) III             D)IV             E)V

97-
I) Two -thirds of the Earth’s surface is covered by 



water, containing enormous potential wealth. II) 
Fish and whales, for instance, are already heavily exploited. III) Certain species of fish, therefore, are declared to be endangered. IV) Rich deposits of oil, coal and other minerals lie beneath the continental shelf. V) Geologists think they could supply our needs for iron, copper and other metals for thousands of years.

A)   I         B) II         C) III             D)IV             E)V

98-
I) 
Galleys were warships that were  driven by oars 



in battle and equipped with sails for cruising. II)
The earliest galleys about which much is known were Greek and Phoenician warships of early classical times. III) The largest of these were biremes, which had two banks of oars. IV) By the time of the Persian Wars, the Greeks were also using triremes, galleys with three banks of oars. V) Slaves were forced to pull the oars, and were treated very cruelly.

A)   I         B) II         C) III             D)IV             E)V

99-
I) 
Table tennis, also known as ping pong, is a 
recreational and competitive game for singles or doubles competition. II) 
Although the Chinese dominated the sport for many years, recently some of the best players have been Europeans. IIl) The object of the game is to hit a small ball over a net stretched across a table so that it hits the 
opposite side of the table. 
IV) Points are scored when one player falls to return the ball over the net so that it  bounces on the opponents side. V) The ball is put into play with a serve, and each 
player has five consecutive turns serving.

A)   I         B) II         C) III             D)IV             E)V

100-
I) 
Tahiti lies in the central South Pacific about 



5,800 km east of Australia. II) 
With its capital at Papeete, and having an area of 1,041 sq, the island is part of the overseas territory of French Polynesia. 


Il) Two volcanic cones, Orohena and Roniu, 

connected by the Isthmus of Taravao, give Tahiti a 

rugged landscape dissected by short, swift streams. 


IV) 
The famous – French painter Paul Gauguin lived 

in Tahiti for many years, painting - its striking 

landscape. V) Besides its magnificent landscape, 

temperatures of 240 to 29 0C attract thousands of 

tourists to the island every year.

A)   I         B) II         C) III             D)IV             E)V
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